





---------- GUWESTE D ~omomromas

x"(-1) = 47X

xM(-1) = 47X
In(x*(-1)) = 1n(4"x)

-1-1n(x)

x+-1n(4)

-1In(x) = x-1n(4)

-In(x)/x = (x-1n(4))/x

-1n(x)/x

1n(4)
rappel: 1/x = x*(-1)
-1n(x)-x~(-1) = 1n(4)

rappel: a = e”*1ln(a)

-1n(x)-e*1n(x*(-1)) = 1n(4)
-1n(x)-e*-1n(x*(1)) = 1n(4)

-In(x)-e”-1n(x) = 1n(4)



rappel: W(x-e”x) = X
W(-1n(x)-e”-1n(x)) = W(1n(4))
-In(x) = W(1n(4))

e In(4) = 1In(272)

In(4) = 2:1n(2)
e rappel: a = e”ln(a)
e In(4) = e*1n(2):1n(2)
e rappel: la multiplication est commutative
e 1n(4) = 1In(2)-e"1n(2)
-In(x) = W(1In(2)-e”1n(2))
rappel: W(x-e”x) = x
-1n(x) = 1n(2)
In(x) = -1n(2)
rappel: 1n(a) = 1ln(b) => a = e”*ln(b)

x = e(-1n(2))

rappel: -1ln(a) = ln(a~(-1))
x = e*(1n(27(-1)))



xM(-1) = 47X

il = Ay

1/x = 47X

soit y = 1/x

y = 47(1/y)

log(y) = log(4~(1/y))
log(y) = (1/y)-log(4)
y-log(y) = y-(1/y)-1log(4)
log(y*y) = (y/y)-log(4)
log(y"y) = 1-log(4)
log(y*y) = log(4)

yry = 4

y = 2

y = 1/x

2 = 1/x

2x =1

| x-12 |



